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1. a®+h2=c?

2. LA+ ZB=90°

. a b
sinA=—, cosA=—, tan A=
c c

a

b b
b sin B=—, cosBZg, tan B=—.
c c a

4. sin? A+cos>A=1,tan A:_sin A. sin A=cos B B sin B=cos A.
cos A
sin30° =£,00530° =£,tan30° =£;
2 2 3
5.
sin 45° zg,cos%" =£,tan 45° =1;
sin 60° :§,00860° =%,tan 60° =/3;
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7 RtAABC ¥, LACB=90°, D &il
: CD—lAB
LI _2 e

“CD=5, ..4B=10.
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. smlABC—AB—S,

S AC=6.

S BC=A4B>—AC*=1[10>—6*=S8.

2 [fEth): (1)i&# AC." £B=90°,

DA+ CD*=WT2+12=8, AC=

AB 8y &,

S AC’=BA*+B(C*=4+4=8.
DA*+CD?,

SAADC RAABZFAF, LD REA.
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HE4E BD.HH =ML e, 154 BD=2EF=2x2=4,

X".BC:57 CD=3,

S.CD*+BD?*=BC?, .!.ABDC =HMf=MJFH ~BDC=90°



. _BD_4 .

J.tan C—CD—3.E&Ji B.
fiftdr: DU ABCD 2%, . AB =CD, £D=90°,
JETABCDCE & Jo s BIA {E 1L ADI s F Ak,

4 [f#fr]
~.CF=BC," %:%,.-.g—gzg,i&cozzx XF =3x(x > 0)

-. DF =+/CF2-CD? =+/5x,.. tan /DCF _DF _5x_+5

CD 2x 2



